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B.A. (Part - II) Examination, 2022
(OLD/NEW COURSE)

MANAGEMENT
PAPER SECOND

(Statistics)

Time : Three Hours] [Maximum Marks:75

 


Note :Attempt all the five questions. One question
from each unit is compulsory.  All questions
carry equal marks.

1 / Unit - 1

1.        

P.T.O.
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

Define statistics. Discuss the characteristics and limi-
tations of statistics.

 / OR




What are secondary data? Discuss their main sources.
What precautions should be taken before using these
data?

2 / Unit - 2

2. 



Discuss the relative merits and demerits of the
measures of central tendency mean, median and
mode. Which one of these is more useful? Give
reasons.
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 / OR



 0-10, 10-20, 20-30, 30-40, 40-50, 50-60,
60-70, 70-80

 2 18 30 45 35 20 6
3

Find the median and third quartiles from the following
data.

Marks 0-10, 10-20, 20-30, 30-40, 40-50, 50-60,
60-70, 70-80

No. of Students 2 18 30 45 35 20 6
3

3 / Unit - 3

3. 


What is the concept of standard deviation? How is
standard deviation calculated? What are its merits and
demerits?

P.T.O.
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 / OR



 

 

 

 

 

 

 

 

Calculate mean deviation from mean of the following
data-

Size Frequency

3-4 3

4-5 7

5-6 22

6-7 60
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7-8 85

8-9 32

9-10 8

4 / Unit - 4

4. -1
+1 

What do you know team correlation? Prove that it lies
between -1 and +1. Explain its importance.

 / OR

x y


X                               Y

42 56

44 49

58 53

55 68

89 65
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98 76

66 58

Calculate Karl Pearson's coefficient of correlation for
the following data of x and y

X Y

42 56

44 49

58 53

55 68

89 65

98 76

66 58

5 / Unit - 5

5. 


Define Index numbers and mention its uses and limi-
tations.
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                           / OR




  

   

A    

B    

C    

D    

From the following data find out Index number by
Fisher's Ideal formula for 1995 based on 1985.

Commodity 1985 1995

Price Quantity Price Quantity

A 12 100 20 120

B 4 200 4 240

C 8 120 12 150

D 20 60 24 50


